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Short-answer questions/problems

Note:  Except possibly for questions in which you are required to provide a list, your answers to the following short-answer questions should be no more than a sentence or two.  If you write more, you will likely run out of time.

1.  When issuing common stock via a cash offering, the firm incurs several indirect costs.  One such cost is underpricing.  Briefly define underpricing.

Difference between value and price at which issued.

2.  When stock is issued via a cash offering, who is the stock sold to?
General public.

3.  How do you earn a return on a zero-coupon bond?
Buy the bond at a discount.

4.  State one way in which the SEC (Securities and Exchange Commission) regulates the securities markets.

One of:  new issues > 1.5 million registered with SEC 20 days prior to issue, oversees exchanges and OTC, insiders file trades with SEC, oversees proxies.

5.  Assume that a firm plans to use its 11% weighted average cost of capital in deciding whether to undertake project that is expected to earn 8%.  Under what conditions can the firm be confident it has made the correct decision?

Reject project that has risk that is greater than or equal to the risk of firm’s existing assets.

6.  According to the Pecking Order Theory, what is a firm’s preferred sequence of funding?
Internal funds, issue debt, issue equity.

7.  List two examples of bankruptcy costs that might stem from excessive debt.

Two of:  legal fees, reorganization costs, court costs, administrative costs.

8.  Modigliani and Miller show that under some very unrealistic assumptions, stockholders are indifferent to the firm’s capital structure.  One way they demonstrate this is to show how stockholders can create their own leverage to undo any action by the firm that reduces the firm’s leverage.  Briefly explain how stockholders could accomplish this.

Borrow on own and buy additional shares of the firm.

9.  List two ways in which a loss of confidence in a firm due to excessive debt might lead to costs for a firm.
Two of:  lost sales, lost key employees, lost supplier credit, higher borrowing cost.

10.  What do the presence of indentures reveal about the relevance of a firm’s capital structure to its investors?
Conflicts of interest exist between stockholders and bondholders

Key to Exam III; F4360; Spring, 2004; 2:00 Class; page 2 of 2
Problems/Essays

1.  In class, we discussed 3 methods for estimating the beta of a project the firm is considering undertaking.

a.  What are these three methods?

b.  Discuss the potential problems for the firm with each of these methods.

(1)
a.  Estimate using historical returns on similar assets

b.  
1)  asset must be actively traded


2)  sample may be too small to have confidence in estimate


3)  asset betas change through time as asset risk changes.

(2)
a.  Use beta of securities issued by firm undertaking project

b. 
1)  New investment may not have same risk as existing assets

2)  Calculated betas likely not true betas

- small sample

- risk of firm has changed

(3)
a.  Use average asset beta for firms in same industry as project.

b. 
1)  May not be able to find comparable firm to the new project

2)  New project likely riskier than established firms

2.  Assume that the profitability of the average firm in the US falls and becomes more unpredictable.  Assume also that in an effort to stimulate the economy, the government cuts corporate tax rates but due to concerns about the deficit allows personal tax rates to rise (by not extending the Bush tax cuts).  Considering only tax issues, discuss and show graphically what should happened to a)  the overall level of corporate debt in the US economy, and b) the level of debt for a typical firm.

Graph of total debt:  The initial graph for 
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 intersects the intercept at TC and then curves downward as it extends to the right.  After the changes, 
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 shifts down and slopes down more quickly.  The initial graph for TB starts at 0 and then at some point slopes upward.  After the changes, TB is higher (but looks like it has shifted left).  The equilibrium amount of total debt is lower after the changes.  The equilibrium TB is lower in my graph but may be higher depending on how the graph is drawn.

Discussion of total debt graph:  Total debt falls.  The drop in the corporate tax rate, the drop in profit, and the decrease in the predictability of profit all make debt less attractive to the firm due to a reduction in the expected corporate tax savings from debt.  The increase in personal tax rates also make debt less attractive due to higher personal taxes on the interest income.

Graph of debt for individual firm:  The initial graph for 
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 intersects the intercept at TC and then curves downward as it extends to the right.  After the changes, 
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 shifts down and slopes down more quickly.  In my graph, the line for equilibrium TB after the changes is below the line for equilibrium TB before the changes (but the line may be higher depending on how the total debt graph is drawn).  The equilibrium amount of debt for the typical firm is lower after the changes.  
Discussion of individual firm graph:  Debt for the typical firm falls.  The decrease in the corporate tax rate, profit, and predictability of profit all make debt less attractive since these decrease the expected tax savings at the corporate level.  The decrease in equilibrium TB actually makes debt more attractive but in my graph is not enough to overcome the reduction in the corporate tax benefits of debt.  
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